
https://www.pass2lead.com/ns0-504.html
2024 Latest pass2lead NS0-504 PDF and VCE dumps Download

 

 

 

NS0-504Q&As

NetApp Certified Implementation Engineer - SAN, Cluster-Mode

Pass NetApp NS0-504 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass2lead.com/ns0-504.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by NetApp
Official Exam Center

 

 

Latest NS0-504 Dumps | NS0-504 Study Guide | NS0-504 Exam Questions                                1 / 3

https://www.pass2lead.com/ns0-504.html
https://www.pass2lead.com/ns0-504.html
https://www.pass2lead.com/ns0-504.html


https://www.pass2lead.com/ns0-504.html
2024 Latest pass2lead NS0-504 PDF and VCE dumps Download

QUESTION 1

For a Brocade Fibre Channel switch, which command can you use to check whether two devices zoned properly and
whether connectivity exists? 

A. Ping 

B. Fcping 

C. Check 

D. Fccheck 

E. Zone 

F. Zonecheck 

Correct Answer: E 

 

QUESTION 2

UNIX allows file access based on___________. 

A. NT ACLs and UNIX permissions. 

B. NT ACLs and SID. 

C. GID or UID and UNIX permissions. 

D. GID or UID and ACLs. 

Correct Answer: C 

 

QUESTION 3

Which statement is correct regarding virtual machine alignment on VMware ESX? 

A. RDM LUNs do NOT suffer from alignment problems because they are accessed directly by VMs. 

B. A VMFS LUN with a LUN type of VMware, will always have properly aligned VMs. 

C. Alignment issues can occur on any protocol including FCP, iSCSI, FCoE, and NFS 

D. msinfo32 or mbrscan can be run for the ESX service console to check for proper alignment of VMs. 

Correct Answer: C 

 

QUESTION 4
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Which two SMB versions does Data ONTAP Cluster-Mode support? (Choose two.) 

A. SMB 1.0 

B. SMB 2.0 

C. SMB 3.0 

D. SMB 4.0 

Correct Answer: AB 

 

QUESTION 5

For what do you Use a Cisco Virtual SAN? 

A. Virtual SAN is a way to divide a fabric logically. 

B. Virtual SAN is a role-based access control mechanism 

C. Virtual SAN is a way to group physical switches. 

D. Cisco does not use a concept of a Virtual SAN. 

Correct Answer: A 
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